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Question No. 1

The design of a flexible pavement is based on the distributing characteristic of component layers.
A)Flexural strength B)Load

C)Bend strength D)Shear strength

FAFT eI F HAFed, "o el & faeRoT iRl o TR 2

A)ITeTFal AT SEIE

C)glshat &I rfeeT D)shaer drehd

Answer Key : B Your Response : B (Correct)

Question No. 2
Which of the following unit operations helps in the removal of finely divided suspended solids and particles
with densities close to that of water and also thickens biological sludge?
A)Flocculation B)Floatation
C)Comminution D)Screening

fr F & v gfete o yeareE, Sa F o & Awe gac g gee fenfaa @dfee et sk Foit @
gl & Heg T § 3R AT 39 Fr o ST FAT §?

A) ATl T B) cerastefTerdr
C)aIf@reIeT (Comminution) D)&hifAaT
Answer Key : B Your Response : A (Wrong)

Question No. 3
The border areas immediately adjacent to the runway pavement are referred to as-

A)Landing strips B)Clearways

C)Holding bays D)Shoulders

A eury & Aiewrhe WATEdr axat el ST &

A)elfSer fegea B)feFerata

C)gifesa & D)ereit

Answer Key : D Your Response : Not Answered

Question No. 4

Bs = h}/‘ ,C this formula represents the—

A) B)

Determination of Total Determination of seepage
stress pressure

Top
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©)

Determination of exit
gradient

P, =hy, - 7% §F #41 9eRa ar 82

A)

F qATE T FROT

Q)

foerTH gauTar &1 faor

Answer Key : B

D)

Determination of
hydrostatic pressure

B)

g gaT F 1 TureT

D)

FEEIR s g &1 fauior

Your Response : D (Wrong)

Question No. 5

A second-order semilinear partial differential equation with two

independent variables and the form 5* —4ac > 0 is-

A)

None of the options

C)

Hyperbolic

B)

Parabolic

D)

Elliptic

ﬁﬁﬁ?ﬂﬁﬁbz—4ac>0$m?$@ﬁﬂﬁm

e 3Tehel GHHIOT 4T 272

A)

et & @ FI5 74T

B)
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C) D)

s St

Answer Key : C Your Response : D (Wrong)

Question No. 6
Which of the following is/are common harmful indoor air pollutant(s)?
A)Radon gas B)Formaldehyde
C)Asbestos D)AIl of the options

fafaf@a & & Fia-ar e gifAsRF sk ag wous 2/d?

AEA SR IECIERES
C)uEsEe D)fawedt & & @l
Answer Key : D Your Response : B (Wrong)

Question No. 7

The group index method of the design of flexible pavements is an empirical method that uses the-

A)Chemical properties of the sub-grade soil B)Physical properties of the sub-grade soil

C)Strength characteristics of the sub-grade soil D)Strength characteristics of the sub-base soil

FAr Peurdt & Ao A @y gahiT A, o negefas R ¥ Gt & 39Arr R Srar
el

A)3U-315 TS & e IoT B)39-IIs fAEY & #fifash ot

C)3u-A5 AL & drha &7 fadwa D)39-3maR fAEY T arha & fawame

Answer Key : B Your Response : C (Wrong)

Question No. 8

Gaining of strength of soil with passage of time after it has been remoulded is known as-

A)Activity B)Sensitivity

C)Thixotropy D)Collapsing

qied & 9IG TG & W R Pramwa F gy A w9 e §

A)aifafafer B)g&HaRAT

C)R=raei™ D)sleifeHar

Answer Key : C Your Response : C (Correct)

Question No. 9
If the smallest division of a Vernier is longer than the smallest division of its primary scale, the Vernier is
known as the-
A)Vernier scale B)Retrograde Vernier
C)Direct Vernier D)Plain scale

I Rl afeiaw &1 T ST AT 3 AT dAe & e o) AT @ 3f0e oer § O aft @

N
A)afiR Thet B)gfaem#r afex
C)sratae i} D)cel(Plain) Thel

Answer Key : B Your Response : C (Wrong)
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Question No. 10
In the Pitot tube, when kinetic energy is converted into pressure energy causing the liquid to rise in the
vertical limb, the height of liquid is called-
A)Static pressure B)Normal pressure

C)Dynamic pressure D)Stagnation pressure

% el og@ &, J9 Afdsr Folt A qara Fer F Rafda Far srar § oad FRoT R SR 3 & 3w
35T §, a aver & 3 gl gl

A)Tfas garg B)9H=T caTd
C)arfareiter gama D)3gl1d (Stagnation) gaTa
Answer Key : D Your Response : A (Wrong)

Question No. 11
occurs when particles are just about the same size as the wavelength of the radiation.
A)AIl of the options B)Rayleigh scattering
C)Mie scattering D)Nonselective scattering

a9 AT & I FUIT 7 3R, R[ERT & a6 T & g7 gar 2l

A)fdFedt 7 & @sh B)Yer Theear
C)#TS (Mie) FheRar D) 3aeTcH® Thefr
Answer Key : C Your Response : B (Wrong)

Question No. 12
From Dalton's law of evaporation, the rate of evaporation can be related as-
A)E =C(es/e,) B)E = C(es + €,)
CE=C(es-€3) D)E=C(esxez)

3Tecs & aNHOT F I F, afHor Hr T A F yHR TEOT Far a1 dhar &7

AE = C(es / €5 ) B)E = C(es + €5 )
C)E = C(es - €5 ) D)E = C(es X €, )
Answer Key : C Your Response : C (Correct)

Question No. 13
Which of the following is an example of secondary air pollutants?
A)Carbon monoxide B)Sulphuric acid
C)Sulphur dioxide D)Carbon dioxide

fArfaf@d & @ ila-ar, gfacdas aryg Tl Fr 3ewe0T 872

AT AIAISTFETSS B)TeraR® Tg
C)HeH SIS3HTFATSS D)elea SIS3iTFASS
Answer Key : B Your Response : D (Wrong)

Question No. 14
Which of the following relates the Darcy—Weisbach Equation?
A)Shear stress in viscous flow B)Head loss due to friction in pipes

C)Velocity distribution in pipes D)Transmission of power

famfaf@a & & wla-ur seif-awe weleor & wefta 82
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A)RITT vaTg F 30T Fiaeel B)ursul # ©YUT & $RUT 83 oAF
C)urgdt # 397 faavor D)urer & grafaerT
Answer Key : B Your Response : C (Wrong)

Question No. 15

The sloughed material is separated from the liquid in and discharged to sludge processing.
A)Screens B)Secondary clarifiers

C)Girits D)Sludge digestors

ol e #F W @ 3T Frar S & 3R 3 s #F favaRa R S g
A)EhisT B)gfadae Tuséeor

C)Rrew D)$ras garel arer

Answer Key : B Your Response : B (Correct)

Question No. 16

The decrease in length or volume of a concrete caused by changes in moisture content of chemical reactions

is known as-
A)Creep B)Compressive strength
C)Shrinkage D)Flexural strength

TafAE ARRRAET @ T fr AET F GGAT G@RT FHhie H NS AT HAAA H gl aTrel HAT B AT Hl

e §7?

A)FT B)#ufaa @y

C)Rgs D)FolergReT ALY

Answer Key : C Your Response : A (Wrong)

Question No. 17
In critical flow conditions, specific energy is-
A)Zero B)Minimum
C)Infinity D)Maximum

e varg Rufaat & R 3 HI adr &2

A) Q]ET B)m‘\?-l?-l'ﬂ
C)31ad D)37T e
Answer Key : B Your Response : B (Correct)

Question No. 18
Mach's number is defined as the square root of the ratio of the inertia force of a flowing fluid to the-
A)lnertia force B)Elastic force
C)Viscous force D)Gravity force

AT Y TGN FT Tod Nl Fard H Sigem a 3R & I & TS F ¥ #F aRenfa fmar aww g

A)STScd dof B)9carEy ol
C)eaTel el D)7[&carehyor el
Answer Key : B Your Response : C (Wrong)

Question No. 19
The difference between the measured value and most probable value is known as-
A)Observed error B)Residual error
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C)Most probable error D)True error

AT A 3R Faifts danfaa a1 & i #71 3R/ gl gl

A)3iedds TR B)3afire IR

C)gdiiere FHida e D)z I

Answer Key : B Your Response : C (Wrong)

Question No. 20

The coefficient of earth pressure for active state of plastic equilibrium

1s given by —

A) B)
o e @ k= 1
k,=sin™| 45" +— Y S
2 tan {45"4—-
2)
C) D)
1
- 2 o (;I} ka = i
AG—TEII [45 +E] Cotf{45o +%}

THTTECs Hell @ Aishd HTEAT & T 2t F garg &7 o v

g e Srar 82
A) B)
: @ k=0 B N |
ka:Sill'[45°+—] .. @
2 tan~| 45° + —}
C) D)
.l @ k — 1
k,=tan"| 45 +— . "
, =tan [45 2] cot? L4 L9
2)
Answer Key : B Your Response : C (Wrong)
Question No. 21
The maximum area of torsion steel in a beam shall NOT exceed-
A)0.08 bD B)0.12 bD
C)0.04 bD D)0.15 bD
e BT F ARaA 86 Th A 7 forad 3fF adr @em?
A)0.08 bD B)0.12 bD
C)0.04 bD D)0.15 bD
Answer Key : C Your Response : A (Wrong)

Question No. 22
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How many air pollutants are considered to be criteria pollutants?
A)2 B)12
C)10 D)6

et A WGt Y ARIES UGYF HIAT ST 82

A)2 B)12
C)10 D)6
Answer Key : D Your Response : C (Wrong)

Question No. 23

Energy recovery from waste is the conversion of waste materials into usable heat, electricity, or
fuel through a variety of processes.

A)Neither recyclable nor non-recyclable B)Both recyclable and non-recyclable
C)Non-recyclable D)Recyclable

3aflse § Foft gesiifee afirse gerdf @ RAffe afmmst F A & swaeh s, e ar
$ueT 3 gRafda fBFar sar g

A)T @ JEEFTd AR o & IR-YASFTT AT B)Y&SFTd AR IR-YarsFolge Qe

CyR-YarsFdTT D)yeTgFIE

Answer Key : C Your Response : C (Correct)

Question No. 24
Which network analysis method is more useful for projects of a repetitive nature?
A)PERT B)CPM
C)Bar charts D)Milestone charts

I TR & e & T Fe-dh ook Rreor Rt s v g

A)PERT B)CPM
C)aR dTc D)HeTe darc
Answer Key : B Your Response : B (Correct)

Question No. 25
A soil sample has a porosity of 40%.Calculate the voids ratio.
A)0.467 B)0.367
C)0.867 D)0.667

g & g v T 40% §1 RFat & eqara $r o F:3

A)0.467 B)0.367
C)0.867 D)0.667
Answer Key : D Your Response : D (Correct)

Question No. 26

The operation of levelling to determine the elevation of points at some distance apart is called-

A)Differential levelling B)None of the options
C)Reciprocal levelling D)Both reciprocal and differential levelling
76 IRERE gff W NGt #1 3erae 7 Fa & fAw qewme 1 F gelrcll ¢l

A)fasieeh FHeleT B)fashodl & & #ig et
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C)IRTIRS THTeT D)IRTIR 3R Aew gadesT ar

Answer Key : A Your Response : A (Correct)

Question No. 27

According to Mohr theory, failure is caused by a critical combination of-

A)Maximum bending moment B)Maximum elasticity

C)Normal strain and shear strain D)Normal stress and shear stress
AR F Rgia & 3R, Awaar & Ageaqol TS & FROT el §

A)3fRedH sSfeger AT B)31frshaa Weamerar

C)arda=a fahfd AR wawel fasmfar D)aAT gfded 3R FHaer gfded
Answer Key : D Your Response : D (Correct)

Question No. 28
The longest distance at which a driver whose line of sight is 1.2 m above the road surface can see the top of
an object 10 cm high on the surface of the road is known as the-
A)Crossing sight distance B)Passing sight distance
C)Lateral sight distance D)Non-passing sight distance

aF W odl gft, SET & U drord fordr TS YT W5F & 756 @ 1.2 X IW §, WF & T W 10 cm

Sharge MA@ aRaT e, ____ Feelch ¢

A)EfSC &1 gl IR &=l B)zfSe gt urR et

C)ured fse g D)ol I[eRe dlell TfSe g
Answer Key : D Your Response : D (Correct)

Question No. 29

Find the unique solution of the initial value problem ¥'=2y+3 ., ¥(0)=1.

A) i
'r(lt):%eh_g .1’(1)2292’—%
) N

R A TEEr V' =2y +3. v(0)=1 FT HeFdT TAE AT F
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A) B)
y(e)=—e"—= W)=-e' =
' 6 6 2 2
C) D)
17 ,, 9 3,5 11
y(t)=—e"—= wW==€e"-—
' 4 4 7 7
Answer Key : B Your Response : Not Answered
Question No. 30
The toughness index of a soil is defined as the ratio of-
A)Plasticity index - flow index B)Plasticity index x flow index
C)Flow index / plasticity index D)Plasticity index / flow index

Her a1 gy A FIRAT Gupie F AAfaf@a & & BFa squra F &9 F aRenRa frar mr 82

A)TTREEehdT FHhish - JaTg Fadhich B)CelTiEcehal geehieh X TaTe Feehich
C)9aTg Feehich / TelliEcehcl Hdehieh D)CcTTieehdr Felehich / YaTg elehich
Answer Key : D Your Response : D (Correct)

Question No. 31

In which of the water distribution systems are the mains, sub-mains and branches interconnected with each

other?
A)Circular system B)Grid iron system
C)Dead end system D)Radial system

for STeT fIeoT Jomelr 3 &Y, 39-Ey AN A Uh gEy | o §% el €7

A)TedThR JoTTell B)fIs =ig gutrelr
C)FAYTT JoTTelr D)If3Ter gutrelr
Answer Key : B Your Response : A (Wrong)

Question No. 32

The number of vehicles crossing a section of road per unit of time is called-

A)Traffic capacity B)Time headway

C)Space headway D)Traffic volume

wie gfAe TAT F WSF F TH IHANT FY IR I dTe Agell Y HEAT gl T
A)efthen eteem B)ersH gsa

CyRH g5 D)efrer afegs

Answer Key : D Your Response : D (Correct)

Question No. 33
may be used in all types of soils EXCEPT those mixed with gravel and boulders.
A)Auger boring B)Shell boring
C)Wash boring D)Rotatory drilling

&7 39T o 3R 9eR AT Rd #F oeet @ R fr RS F Far s e g
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A)3TIR (Auger) ST B)erer sifiar
C)arer Sifier DRreedr f3fefar
Answer Key : C Your Response : C (Correct)

Question No. 34
The perpendicular distance from the center of a camera lens to either the picture plane or camera plate is
known as the-

A)Picture plane B)Perspective centre

C)Focal length D)Nodal point

$AY H W F Hx A, AT I I FAT D TF H siqqd g0 A e S g
A)RT =T (plane) B)uRkveT g

C)Freer FaTS D)se fig

Answer Key : C Your Response : C (Correct)

Question No. 35

The difference in time between the center of mass of net rainfall and that of runoff is known as-

A)Lag time B)Recession time

C)Time of concentration D)Peak time

Y€ I F GEAA & Fg, AR IuAE F Fg F T F T F IR A T S &l
A)ldT TEH B)#HEr &7 THYT

C) USRI sl HHY D)TR#A HT

Answer Key : A Your Response : C (Wrong)

Question No. 36

Aliquid that passes through solid waste and extracts suspended impurities from it is known as-

A)Leachate B)Ashes

C)Distilled water D)Sludge

T R St 3 IARIST & IERar § IR 3w eRa arpfet # Aseia wwar @, 3@ T STl
gl

A)elide B)T@

C)3mg el D)Tetat

Answer Key : A Your Response : A (Correct)

Question No. 37
A three-hinged semicircular arch of radius R carries a uniformly distributed load W per unit run over the whole
span. The horizontal thrust is-
A)AW/R B)WR
C)4AR/W D)WR/2

S R & die-seoieR reiarer o9 qot 3@f®@ & 9fd s$ W@ W 1 vhad {ald IR & g = g

fifasr g¥e = grem?

A)AW/R B)WR

C)4R/W D)WR/2

Answer Key : D Your Response : C (Wrong)

Question No. 38
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For a material, Young's modulus is given as 1.2 x 10° N/mm? and Poisson's ratio as 1/4. Calculate the bulk

modulus.
A)0.4 X 105 N/mm? B)0.2 X 10% N/mm?
C)1.2 X 105 N/mm? D)0.8 X 105 N/mm?

el aelt & AT, I A # 1.2 x 105 N'mm? & 9 F 3R cardt At #1 1/4 & §7 7 sgad fHar
AT §| FoF AGiH H AT F

A)0.4 X 10° N/mm? B)0.2 X 10° N/mm?2
C)1.2 X 105 N/mm?2 D)0.8 X 10° N/mm?2
Answer Key : D Your Response : D (Correct)

Question No. 39

This process of waste disposal that relies on burying the waste in the land is known as-

A)Incineration B)Composting

C)Landfill D)Pulverization

3mqfrse fAEaroTr $r uftwr, St AR A A g W AR A E, _ Fwarn §
A) $TEHTRIOT B)&aIfEeaT

C)elisfther D)ﬂ,}?ﬁEFTUT

Answer Key : C Your Response : C (Correct)

Question No. 40
Find the displacement thickness for the velocity distribution in the boundary layer given by u/U = y/6, where u
is the velocity at a distance y from the plate and u = U at y = 6, where & = boundary layer thickness.
A)/3 B)d/6
C)25/8 D)d/2

WU = y/5 garT & 31§ e W F 397 Fewor & v e Aled Fa &, e u Dc A gy W §
IRy=0Wu=UG§g, @&l d = A RA Fr Aers gl

A)d/3 B)d/6
C)25/8 D)5/2
Answer Key : D Your Response : Not Answered

Question No. 41

For the pile in cohesive sail, is neglected for individual pile action in static formulae.

A)Tensile stress B)Shear strength

C)Point bearing D)Skin friction

THolc A F usea F fow, R @& & safFaea ame wa F o A ARG HT & Srar
gl

A)degar gfdee B)a&ael wraed

C)dige ST D)caar gvor

Answer Key : C Your Response : D (Wrong)

Question No. 42
Alan is a combination of a theodolite and a terrestrial camera.
A)Vertical photograph B)Phototheodolite
C)Tilted photograph D)Oblique photograph
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T U REemse 3R o Tely Y # HAIe g gl

A)oigad BT B)wieifaasense

C)gh §U wIeramrd D) W

Answer Key : B Your Response : C (Wrong)

Question No. 43
Which of the following is NOT an example of coagulants (salts)?
A)Sodium sulphate B)Ferrous sulphate
C)Aluminium sulphate D)Ferric sulphate

sAfaf@a # ¥ Fla-a1 Thge (Aa0T) T TFH 3EEIT 76T &7

A)Af3ad Tothe B)%E Tethe
C)TcgHIi=aH Fothe D) Hethe
Answer Key : A Your Response : Not Answered

Question No. 44
To draw qualitative ILD of indeterminate structure, which of the following concepts is used?
A)Castigilano's First energy theorem B)Unit Load Method
C)Kani's Method D)Mullers Breslou's Principle

FfARad T3 A JUTHS ILD 9ied Fa F v e & § 5w rguror #1 s9ier fwar sar g2

A)FITEETReTaT T 92 Foll g7 B)gfwic =iz fafer
C)&far fr fafer D)HeRT s&all &I fgial
Answer Key : D Your Response : D (Correct)

Question No. 45
What are the types of ordinary differential equations?
A)All of the options B)Autonomous Ordinary Differential Equations
C)Linear Ordinary Differential Equations D)Non-linear Ordinary Differential Equations

AT ahd THIERUIT & T YhR 87

A)fawedl &7 & Tl B)Taricd A#T T3wIfRrer dateior
CRas a#=T f3wifrer Feteor D)IRIWF =T Bwifaer @aeor
Answer Key : A Your Response : A (Correct)

Question No. 46
What are the types of conflicts that occur due to the movement of traffic at intersections?
A)AIl of the options B)Merging conflict
C)Diverging conflict D)Crossing conflict

aRTEl W AR Wl % FROT R TR F T @ #2

A)fawedl # & Tl B)ATSTT ShitFeree
C)srgafsiar itFelde D)FITT HiFaFT
Answer Key : A Your Response : A (Correct)

Question No. 47
The number of days between the first watering and the last watering before harvesting the crop is known as
the-
A)Capacity factor B)Base period
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C)Kor period D)Crop period

Ugell fHGTS, TUT BH Fea § q@ Iifaw s == & 9 & &t 6 dear & gl ST gl
A)&THAT SR B)3MuR 31afer

C)&R 31af¥r (Kor period) D)Rde 37afe

Answer Key : B Your Response : D (Wrong)

Question No. 48

The rising limb of the hydrograph is also known as the-

A)Infiltration curve B)Concentration curve

C)Peak curve D)Deflection curve

ES2TH & 38 HET F iy gr ST 1

A)3ia:TIe Th B)®IGUT dsh

C)&R g D)fa&iqor ash

Answer Key : B Your Response : B (Correct)

Question No. 49

In secondary triangulation, the stations are fixed at closed intervals so that the sizes of the triangles formed

are the primary triangulation.
A)Higher than B)Equal to
C)Smaller than D)None of the options

afacdias PeoiEeT #, TR A dg el W R fHar Siar § af% 3o a Bejst & 3R grfas

ReofeT & Gl

A)3EE Far B)& AT

C)& Bler D)fawedl & & HIg =6

Answer Key : C Your Response : C (Correct)

Question No. 50

The value of the ruling gradient in terrains as per IRC recommendations is-

A)1in 20 B)1in 40

C)1in 10 D)1in 30

IRC Fr ITRIAm F AR, sl & e yaorar Fr AT el

A)20 #H 1 B)40 # 1

C)10 & 1 D)30 & 1

Answer Key : A Your Response : B (Wrong)

Question No. 51

If the area is concentrated far from the centroidal axis, it will have a/an value of radius of gyration k.
A)Both smaller and greater B)Greater

C)Smaller D)Equal

Ife & e 38T & g Hebfad ¢, F S el k Hr BsAr 1 AT ol

A)BIE AR Feea alet B)gEcX

C)ale D)sRTeR

Answer Key : B Your Response : Not Answered
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Question No. 52
Which of the following methods is a series of survey points, often laid out in approximately a straight line?
A)Triangulation method B)Plane table method
C)Traverse method D)Both triangulation and plane table methods

s § - vgf, wfaror Rigait A v swer &, O I 0T OF FKof X@T F @ AT §7?

A)FeiomEsT fafer B)&@#Hdel diferent fafer
C)eaw fafer D)o 3R gHEae arfeer At get
Answer Key : C Your Response : C (Correct)

Question No. 53

In trigonometric levelling, the vertical angle is measured by means of the-

A)Ranging rod B)Theodolite

C)Spirit level D)Levelling staff

ReufAd g #, FeaeR FHor & ATCIH ¥ AT ST B

AT 13 B)fasiense

C)feaRe daer D)crafier ¥IH

Answer Key : B Your Response : B (Correct)

Question No. 54
A beam 6 m long, simply supported at its ends, is carrying a point load of 50 KN at its centre. The moment of
inertia of the beam is 78 x 10® mm®. If E for the material of the beam = 2.1 X 10° N/mm?, calculate deflection
at the centre of the beam.
A)13.736 mm B)43.736 mm
C)33.736 mm D)23.746 mm

6 #r oiarS F NH 38F A § W T § FAAT ¢ 98 39t Fg W 50 KN Fr &g 7R g = @T ¢ oA
F S5 3ot 78 x 108 mm* Bl X e i @#FHah & E = 2.1 X 105 N/mm? g, ar 9 F Fg w0 Rgigor

& AT L

A)13.736 mm B)43.736 mm

C)33.736 mm D)23.746 mm

Answer Key : A Your Response : Not Answered

Question No. 55
If in a particle size distribution curve, a flat portion represents a soil in which some intermediate size particles
are missing, then such soil is known as-
A)Organic soil B)Well-graded soil
C)Inorganic sail D)Gap-graded soil

g H0T IHR AR T #, T AUE HET v AL F1 gl Fwiar § Owd $o Fugadt @R & For

T g, ar & @A @ F ® F F=T ST

AFElas @ B)3r=eh g ¥ Avfieg AT
C)3rafeien faET D)du-gofiag AT

Answer Key : D Your Response : D (Correct)

Question No. 56

Which of the following tests is carried out to test the hardness property of aggregates?
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A)Soundness test B)Crushing test
C)Impact test D)Abrasion test

I & FONUT AU FT {ET0T Fa F AT g0 & Fler-ar gdieror Brar sar 82

A)geedr glefor B)&arelel T di&Tor
C)weTIIar g<refor D)3rqavor qfkafor
Answer Key : D Your Response : B (Wrong)

Question No. 57
A body of weight 100 Newtons is placed on a rough horizontal plane. Determine the coefficient of friction if a
horizontal force of 60 Newtons just causes the body to slide over the horizontal plane.
A)0.8 B)0.3
C)0.12 D)0.6

100 el gl & U s 1 v Gagy difdsr a0 W T@r Ir g1 'dor Jonis fAeiRa #Y afE 60 =T &
#ifas s ¥ FRoT Rz Afdsr Foae | 59 By g

A)0.8 B)0.3
C)0.12 D)0.6
Answer Key : D Your Response : D (Correct)

Question No. 58

The required percentage of total water available for washing the filter of a slow sand filter is-

A)4.2% to 5.2% B)1.2% to 3.5%

C)0.9% to 1% D)0.2% to 0.6%

#He a1 fheet & et &Y Ul & fAT 3UCetr ol STl T HERTF HicRrd gl
A)4.2% & 5.2% B)1.2% & 3.5%

C)0.9% ¥ 1% D)0.2% & 0.6%

Answer Key : D Your Response : B (Wrong)

Question No. 59
Which type of furrow irrigation can carry water across a slope field rather than the slope?
A)Contour B)Straight
C)Both contour and straight D)Neither contour nor straight

e gR fr gz RS, o & ST o arer W & 9N 9l of ST W 87

A)FAT B)drem
C)gdT=a 3R @rer gr&Ar D) a HAred 3R & & der
Answer Key : A Your Response : A (Correct)

Question No. 60
A wire is stretched 2 mm by a force of 250 N. Determine the force that would stretch the wire 5 mm, assuming
that the elastic limit is NOT exceeded.
A)425 N B)325 N
C)725N D)625 N

T dR HF 250 N o ganT 2 fAdr f&ar s/@n ar & 5 R#r diver aren sa RuiRa &, # o & yearer
AT 9T 78 gt


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A)425 N B)325 N
C)725 N D)625 N
Answer Key : D Your Response : D (Correct)

Question No. 61

Undamped natural frequency is given by-

A) B)

) D)

drE TElas aghy ed gan & e &2

A) B)

C) D)

Answer Key : C Your Response : Not Answered
Question No. 62

Two numbers P and Q are chosen at random from the set of first 50

natural numbers. Find the probability that P*— Q? is divisible by 4.

A) B)

24 76
49 1225
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12

625

L
t~.>|‘““]

uger 50 IRplde FEAR % ®e ¥ ar §Ean P 3k Q Infos v ®
T ST €1 sEhr wii¥eRar W fifew &F -0 4 F Rerew

A) B)
24 769
19 1225
C) D)
7 12
32 625
Answer Key : B Your Response : Not Answered

Question No. 63
Out of 20 cricket teams, 12 teams were formed with 7 batsmen and 4 bowlers each and 8 teams with 6
batsmen and 5 bowlers each. Then, compute the probability that a team has 6 batsmen and 5 bowlers.
A)0.5 B)0.9
C)0.4 D)0.7

20 forhe AT F § 12 AT Fr UAF 7 Tt 3R 4 dgaEt T g9=—T /T 3R 8 A Fr YAF 6 TeoarEr
3R 5 et A T AT FE F F 6 Jedars 3R 5 digaer @ Hr WRFAr Hr U FY

A)0.5 B)0.9
C)0.4 D)0.7
Answer Key : C Your Response : Not Answered

Question No. 64
What is the effective value of correction for overburden pressure?
A)Not exceeding 880 kN/m? B)Not exceeding 580 kN/m?
C)Not exceeding 280 kN/m? D)Not exceeding 680 kN/m?

AR g & AT JUR F1 Fo77 FqeT 1 87

A)880 kN/m? & 31f8e wAgr B)580 kN/m?2 & 378 =Tgr
C)280 kN/m?2 & 318 AgT D)680 kN/m?2 & 3ifre =1gY
Answer Key : C Your Response : C (Correct)

Question No. 65
Permanent hardness is due to the presence of-
A)Bicarbonates of calcium B)Both sulphates and chlorides
C)Chlorides only D)Sulphates only
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TR FRaT fFadr 39fPafa & SR g Bl

A)HfoREH & dEHElT B)@ethe 3R FaRISS Gt
C)dhad FeRISS D)hddl Hethe
Answer Key : B Your Response : D (Wrong)

Question No. 66

Infiltration is a major process continuously affecting the of surface run-off at any measured outlet
of a basin.

A)Specific gravity and viscosity B)Magnitude and distribution

C)Density and velocity D)Pressure and stress

HeT:TEA T W@ 9NHAr § S af # R s AT gU 3M3eee W HeE & yaw & I AR
yafaa Fr #

A)fafrse deca 3R =TT B)ufR#AToT 3R faeRor

C)gdca AR der D)gsra 3R gfdeer

Answer Key : B Your Response : B (Correct)

Question No. 67
The rate of discharge of percolating water per unit cross-sectional area of voids perpendicular to the direction
of flow is defined as the-
A)Seepage velocity B)Coefficient of permeability
C)Dynamic viscosity D)Hydraulic gradient

yarg @ R & duaa R ® e & wfa sag Hia-3npeiy &7 & Rea a6l & @des i @ @ R yeR

o fRar I &7

A)RET da1 B)UR@#=IAT I[OTIh

C)arfasirer eameTar D)gTssitelsh Jf3uc

Answer Key : A Your Response : D (Wrong)

Question No. 68
If u=3i + 5j -2k and v = 4i - 8] + 7k, then find the value of 3u - 2v.
A)13i + 25j - 22k B)i + 42j - 18k
C)7i-3j-5k D)i + 31j - 20k

g u=3i+5 -2k 3R v=4i-8 + 7k & a 3u - 2v & AT AT HI

A)13i + 25j - 22k B)i + 42j - 18k
C)7i - 3j - 5k D)i + 31j - 20k
Answer Key : D Your Response : D (Correct)

Question No. 69
What is the formula for Euler's crippling load for columns when one end is fixed and other is free?
A)P =22 El / I? B)P =2 El / 412
C)P=m2EI/I]P D)P = 42 El / 12

s A T 3R qur R Hod @ W Flad & fAT Jor F1 Bhfteler dls &1 g = gem?
AP = 212 EI / 12 B)P = m2 El / 412
C)P = m2 El / I2 D)P = 4m? El / I2

Answer Key : B Your Response : B (Correct)
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Question No. 70

Aerial photographs which are taken with a camera axis considerably inclined to the vertical are known as-

A)Tilted photographs B)Phototheodolites

C)Vertical photographs D)Oblique photographs

TR PO S FAY A gl F e B AN i 3 F @ e o 3 Fea &1
A)STH §T B B)wicIRAISIeIscH

C)didad B D) wicmrg

Answer Key : D Your Response : A (Wrong)

Question No. 71
Which data are collected and compiled for a given area and linked by the GIS to the features in a map?
A)Tabular data B)Spatial data
C)Point data D)Image data

fFlr e v & & AT Fia-ar s wid iR dFfaa R sar § 3R GIS @Err AefRT & fadwant &

foler fohar Srar 872

A)aRofieg ser B)Tarfae 3er

C)feg ser D)&fad 3er

Answer Key : A Your Response : B (Wrong)

Question No. 72

The ratio of the induced moment to the applied moment is referred to as the-

A)Distributed factor B)Unbalanced moments
C)Carry-over factor D)Distributed moments

IRe et 3 IR et & g F ¥ w9 3 Wl R ST §)
A)fT¥csges et B)3radferd #idied

C)-3a Yperex D)RRzegs Avcw

Answer Key : C Your Response : C (Correct)

Question No. 73

The flakiness index of aggregate is the percentage by weight of particles in it whose least dimension is less

than of their mean dimension.
A)Three-fourths B)Three-fifths
C)Two-thirds D)One-fifth

tfiele # FfFad $390 36 AlS[g FOIN F Fotel w1 wfawd §, Oww Sgerad 3w 39% A e F

e & 747 8
A)dreT-aters B)dier-atad
Car-faers D)Us-uiad
Answer Key : B Your Response : C (Wrong)

Question No. 74
In the rise-and-fall method, which of the following is NOT required for measurement?
A)Difference of elevation B)Last reduced level
C)First reduced level D)Height of instrument
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3UR-gdd RfY F, A & O g ¥ F4r 3aRTF A ar &7

A)3eTaeT &7 RAffeaar B)de 133 oIdel
C)Wee 5gd3 oldel D)3uehoT I Furs
Answer Key : D Your Response : D (Correct)

Question No. 75

The is a grit removal unit which removes silt and some organic matter along with the grit.
A)Sedimentation tank B)Skimming tank
C)Sludge digestor D)Detritus tank

T I gere arell gfe § St fIe & ary Ree 3R 3o Fefas 9o s ger & 8
A)3fqdres & B)RwfHT &

C)&rdas udre arell D)fsfeeca =&
Answer Key : D Your Response : B (Wrong)

Question No. 76
In the standard penetration test, the number of blows required to penetrate the first 150 mm is called the-
A)Seating drive B)Dynamic cone resistance
C)Number value D)Standard penetration resistance

T HAldF YA JUE0T &, g 150 AT Y At & AT TS UHG i AET ST AT Tl SAar &7

A)HifeaT grga B)aifarefier eig wferrer
C)TEar AT D)ATTF Usierrs Tfaer
Answer Key : A Your Response : D (Wrong)

Question No. 77

If z=2+3i and w=5-2}, the conjugateof zand wis z and w,

respectively. Find the value of z with an absolutevalue.

16+11i 4-11i

C) D)

4+11 16-11i

g z=2+3i sk w=5-2i & ar z 3R wa Fgew Fn - Hk
ar 9UT A ¥ WY zw & AT A
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A) B)
16+11i 4-11
C) D)
4+11 16-11i
Answer Key : D Your Response : B (Wrong)

Question No. 78

Which of the following is a numerical method?

A)Bisection method B)AIl of the options

C)Jacobi iteration D)Newton's method

famT & @ Fla-r v dETers B 2

Agfafaaree fafer B)fasedr & & @it

ST gerRTgfea Dy=pea #1 faftr

Answer Key : B Your Response : B (Correct)

Question No. 79
If one of the legs of the interchange meets a highway at some angle but does NOT cross it, then the
interchange is called a-
A)Rotatory interchange B)Clover-leaf interchange
C)Diamond interchange D)Trumpet interchange

I ST f wEH oo, R TeRt ¥ R ST W Aed & o 3@ 9R @ aRel, ar $edsr @

FeT S g
AT geTder B)faufaar ara-ucdr fafe#a
C)3IAz geaaT D)gue Rfe#HT
Answer Key : D Your Response : D (Correct)

Question No. 80

Evaluate f(-2) for the function f(x)=3x"+2x-1.

A) B)

14 -14

C) D)
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Fold f(x)=3x+2x -1 & [T f(-2) & FeAqTehad HL|

A) B)
14 -14
C) D)
-7 -
Answer Key : D Your Response : D (Correct)

Question No. 81
In the limit state design method, the limiting values of the depth of the neutral axis for Fe415 steel is given by
which of the following equations?
A)0.53d B)0.36 d
C)o.48d D)0.68 d

faffe Re R R #, Fe415 Ve & AT ga a7 v s & WA 7 F=ff@a § ¥ frw

woEROT @RT R I &2
A)0.53 d B)0.36 d
C)0.48 d D)0.68 d
Answer Key : C Your Response : C (Correct)
Question No. 82
The profile occurs in the case of y. >y > yp.
A)None of the options B)S»
C)S; D)Ss
NHTE Yo >y > Yo & AT 7 gl 51
A)faweal F T HIg 8T B)S,
C)S4 D)S3
Answer Key : B Your Response : Not Answered

Question No. 83
In PERT, each activity follows which of the following distributions?
A)Alpha B)Beta
C)Gamma D)None of the options

PERT #, & aifafafer faesr & & frer faewor &7 argemor &l 82

A) 3TeHT B)sirer
C)amaAT D)fawedl & & +Ig 16T
Answer Key : B Your Response : B (Correct)

Question No. 84
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In which of the following cross-drainage works is the bed level of the drainage above the full supply level of

the canal?
A)Super passage B)Level crossing
C)Aqueduct D)Siphon aqueduct

frafaf@a & & fFe Fia-3ae F1F F 399 & ad &R, 767 & Qo7 g TR & 3T gar 82

A)FR 48T B)eiadl hITdeT
C)sTeriiq D)&TShe STeréid
Answer Key : A Your Response : A (Correct)

Question No. 85

is the cutting and tearing of municipal solid waste.

A)Shredding B)Composting

C)Incineration D)Pulverization

uIferT & B HURIST 1 Hdler 3R FAgRoT g gl

A)Afzar B)af&ear

C)TEHTRIOT D)?{UﬁWUT

Answer Key : A Your Response : A (Correct)

Question No. 86

When shear stress is proportional to the velocity gradient and is more than the yield value, it is known as-

A)Real fluid B)Non-Newtonian fluid

C)ldeal fluid D)ldeal plastic fluid

S iAol delld 43T JAOIT & FARIITH giem & AR 3991 o7 & e gar &, o 50 gl ST g1
A)arEdfas ga B)IN-7gifeaet g

C)3Teel ga D)31eel TelrfEes ga

Answer Key : D Your Response : B (Wrong)

Question No. 87
An isobar is a stress contour or a line which connects all points below the ground surface at which the-
A)Vertical stress is the same B)Elevation is the same
C)Settlement is the same D)Horizontal stress is different

TF AFHER T Tfaae TRGT A T H qelg & o Tl Rigat # gy areh v Yar § -

A)FedTeR yfdee agr &l B)3e1deT aEl &
C)gersT (Settlement) @@ &1 D)&fas gfasrer 3rerer &1
Answer Key : A Your Response : A (Correct)

Question No. 88
Determine the minimum and maximum longitudinal reinforcement for a square column of size 300 mm x 300
mm having a clear cover of 25 mm.
A)720 mm? and 5400 mm? B)720 mm? and 3750 mm?
C)500 mm? and 5400 mm? D)500 mm? and 3750 mm?

25 A & TasT IEROT arer 300 AR x 300 AR IER F vew T W F v g@aw IR dftwan
Fgaed Tdeor fauiRa ¥
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A)720 fA#2 and 5400 &2 B)720 f&#2 and 3750 A2
C)500 f&#2 and 5400 T2 D)500 f&#2 and 3750 A2
Answer Key : A Your Response : Not Answered

Question No. 89

Non-coplanar concurrent forces are forces that meet at one point, but their lines of action on the
same plane.

A)None of the options B)Do not lie

C)Both lie and do not lie D)Lie

R-AcelrT e o W 7 @ § S v g W e € Afther 3ahr fvam Y@d @ae de -

A)fameat & & 1S 8 B)=Tel &1l
C)grelr & 3R =gl gichr €, &=l D)gIelr &1
Answer Key : B Your Response : B (Correct)

Question No. 90

Active remote sensors create their own that is transmitted from the sensor towards the terrain.
A)Tidal energy B)Both wind energy and tidal energy

C)Wind energy D)Electromagnetic energy

AT YT e e AT Fa § o @deF ¥ aper Fr 3R wwRa @ B

A)SaRT FaT B)gad Foll 3R AR FaT gl

C)gasl ol D)faegcregesha Sl

Answer Key : D Your Response : D (Correct)

Question No. 91

According to the IRC guideline for flexible pavements, soil strength is measured by which of the following

tests?
A)Compressive strength test B)California bearing ratio test
C)Soundness test D)Bitumen adhesion test

g Peurdt F fAv IRC fernfadalt & srequr, soot & o Gdetor g@rr Fjer Il A Sl 82

A)oFdises AHZY getor B)fermiferar saRar reary wdretor
C)TedT graToT D)facfaera 3mast= adraor
Answer Key : B Your Response : B (Correct)

Question No. 92

According to I.R.C. standards, the length of the horizontal transition curve should NOT be less than the value

of for hilly terrain.

A)L = V2R B)L=2.7 VR

C)L=V32 D)L=1.7 V’R

LR.CAH & AR, TTY 3T & v AT WFrAvr aF A s & A ¥ FA FE g AR
AL = V3R B)L = 2.7 V&R

C)L = V32 D)L = 1.7 V&R

Answer Key : A Your Response : B (Wrong)

Question No. 93
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What is Terzaghi's bearing capacity equation for a circular foundation

for diameter B?

A) B)

q, = ]_3C_Nq +gN_.+04 ;JB_N,., g, =1.3cN, + QNQ +0.4 /B_?'\TJ.,

Q) D)

¢, =1.3cN, +gN,+0.4yBN, g, =1.3cN; +gN,+0.3yBN,

=H B % T ts Maser A9 & fOre 23T $r aga e e gaEeor

Far 27
A) B)
g, =1.3cN,; +gN_+0.4yBN, g, =13cN, +gN,+0.4yBN,
C) D)
g, =13cN, +gN, +04yBN, g, =13cN +gN, +0.37BN,
Answer Key : D Your Response : D (Correct)

Question No. 94

Water attached to soil particles through loose chemical bonds is known as-

A)Capillary water B)None of the options
C)Hygroscopic water D)Gravitational water

Rt TR det & A & Far & Foit F Ieg oo gerd gl
A)HTAHT STeT B)fasedl & & HIg 6T
C)ersaEsifies STel D)a&careh¥or el

Answer Key : C Your Response : A (Wrong)

Question No. 95

A penetration test should be conducted at a specified temperature of-

A)35°C B)25 °C

C)15 °C D)5 °C

3jadue gdrefor F RAf&se duAE W 3mAST 7T sEr @Rl
A)35 °C B)25 °C

C)15 °C D)5 °C
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Answer Key : B Your Response : B (Correct)

Question No. 96
Which type of slide occurs by an arc engulfing the whole slope?
A)Slope slide B)Toe slide
C)Base slide D)Translational slide

e JeR $T T3S TF AT F FROT g § AT HYOT ol Hr A @l 87

A)TATT TASS B)<r Toligs
C)sH Tlss D)ergaRldd TollSs
Answer Key : C Your Response : C (Correct)

Question No. 97
The Plastic Limit is the water content corresponding to an arbitrary limit between the plastic and the
states of a soil's consistency.

A)Both solid and liquid B)Solid

C)Semisolid D)Liquid

cofees W TRl i AT & S corRerier 3 B A e Rufy & 9 o FewER da
¥ AT @l B

A 3R et gt B)3rH

C)31ef 3 D)d¥er

Answer Key : C Your Response : D (Wrong)

Question No. 98
Determine the viscosity of a liquid having a kinematic viscosity of 8 stokes and specific gravity of 1.5.
A)12 poise B)22 poise
C)16 poise D)18 poise

8 Tay #r st AT 3R 1.5 & AR 7T ara a¥er Hr F=ar RuiRa w1

A)12 poise B)22 poise
C)16 poise D)18 poise
Answer Key : A Your Response : D (Wrong)

Question No. 99

Webster's method of traffic signal design is an analytical approach of determining the-

A)Optimum cycle length B)Minimum density

C)Total lost time D)Saturation flow rates

¢ QI BoseT fr deve R F AURT Fo o7 v AAvoncHS TieeHIoT I
A)sSead Asfha oS B)#gsTdH ©elca

C)Fe T T qoHg D)&Eqed wall Y|

Answer Key : A Your Response : A (Correct)

Question No. 100

(ﬁ.
Find the solution for d— +ytan x =cosx.
X
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yeosx=x ysecx=x+c

smx=1 cosx=0

dy .
——+ ytan x =CcoSx & goT AT FI|

dx
A) B)
}"COSX:.?C ysecx:x+c
&) D)
sinx =1 cosx=0
Answer Key : B Your Response : B (Correct)

Question No. 101
An article is listed at a price of Rs.480. The seller makes a profit of 2% after allowing a discount of 15%. Find
the cost price of the article.
A)Rs.425 B)Rs.400
C)Rs.420 D)Rs.380

T a] F $.480 Fr AAT W GAag BT Sar &1 RAshar 15% A G & & G 2% F AT FAIH o1 TR

& T Hed A T

A)T.425 B)%.400

C)%.420 D)%.380

Answer Key : B Your Response : B (Correct)

Question No. 102
If the difference between the selling price and cost price of an article is Rs.210 and the profit is 25%, then find
the selling price of the article.
A)Rs.960 B)Rs.1050
C)Rs.1000 D)Rs.950

Ife Rl o] & fashd 7o 3R T AeT & < 1 AR $.210 § 3R a7 25% &, dF ax] & &g qoa
AT HifS

A)¥.960 B).1050

C)%.1000 D)%.950
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Answer Key : B Your Response : B (Correct)

Question No. 103
With the speed of stream being 2 km/h, a boat goes 10 km upstream and returns downstream the same
distance in 55 minutes. What is the speed of boat in still water?
A)21 km/h B)22 km/h
C)20 km/h D)18 km/h

arr Fr fey 2 frei/eer @9 W, v AT arT F wiager 10 fRelr Sl § 3 55 Bee F v g 9w =
URT & 3HeJhel a9q AT ¢ BT Sor & A A aifer e 82

A)21 fraf/eer B)22 farsli/aer
C)20 frefi/aer D)18 frai/eer
Answer Key : B Your Response : Not Answered

Question No. 104
The average salary per head of all the workers in a workshop is Rs.950. The average salary of 15 officers is
Rs.5250 and the average salary per head of the rest is Rs.850. Find the total number of workers in the

workshop.
A)640 B)560
C)540 D)660

T HREner # g afAet @ 9fa affa ia aaa $.950 &1 15 3f0RAt & tea 39 $.5250 § 3R
Y 1 9fd safed e ade $.850 1 FrRITeT # AAR F FoT FEAT AT H

A)640 B)560
C)540 D)660
Answer Key : D Your Response : Not Answered

Question No. 105

Six years ago the ratio of ages of P and Q was 6 : 5. Four years hence, it will be 11 : 10. What is the age of P

now?
A)15 years B)20 years
C)25 years D)18 years

oF af Jgel P 3R Q T 3 FM 3T 6 : 5 UMl IR ¥ &1g, g I 11 : 10 & Sweam| P Hir o

g = 7

A)15 a¥ B)20 a¥

C)25 ay D)18 aw

Answer Key : D Your Response : D (Correct)

Question No. 106
The length of a rectangular plot is 20 m more than its breadth. If the cost of fencing the plot at Rs.26.50 per
metre is Rs.5300, what is the length of the plot in metres?
A)120 m B)50 m
C40m D)60 m

TF HAGHR ol i e sudr disd & 20 Hex 30« §1 I cdlc W $.26.50 ufd HAex frex d @13
T Fr AETT $.5300 &, @ Taie A €S Hex F AT AfSw)
A)120 #HreT B)50 #Hrex
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C)40 #ex D)60 Hrex

Answer Key : D Your Response : D (Correct)

Question No. 107
16 men can complete a job in 24 days, while 24 women require 32 days to complete the job. If they are paid
daily wages, then what is the ratio of the daily wages of a man and a woman?
A)2:1 B)5:3
C¥:3 D)3 :1

16 939 Rl Fo o 24 BT F qU = FFha §, FTafF 24 ARewt & F107 @ F= & Qv 32 R v §)
I 3¢ &fAeh FoiqQ I ST TR ST 8, aF v oW 3R v AfRer & & Asiqlr 1 eI AT A

A)2 : 1 B)5 : 3
C)4: 3 D)3 : 1
Answer Key : A Your Response : C (Wrong)

Question No. 108

Which of these has the least value?

A)10% of 5 B)10% of 10

C)5% of 15 D)5% of 5

o=t % & Trae A9 T8 F9 &7

A)10% of 5 B)10% of 10

C)5% of 15 D)5% of 5

Answer Key : D Your Response : D (Correct)

Question No. 109
Evaluate: cos20° cos80° + sin20° sin80°
A)1/2 B)1
C)-1/2 D)-1

HoAiwe FL: c0s20° cos80° + sin20° sin80°

A)1/2 B)1
C)-1/2 D)-1
Answer Key : A Your Response : Not Answered

Question No. 110
A boat goes 7 km upstream in 21 minutes. If the speed of the stream is 3 km/h, then find the speed of the
boat in still water.
A)32 km/h B)19 km/h
C)23 km/h D)26 km/h

TS AT 21 Ade # arr & dfcger 7 TR Seh @1 afe arr fr aifa 3 Rl @, o R S & Aa A

afa AT A

A)32 fra/eer B)19 farsfi/aer

C)23 feral/Eer D)26 ferett/aer

Answer Key : C Your Response : C (Correct)

Question No. 111
If 88.60 x 2.5 = a, then find the value of 'a'.
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A)212 B)221.5
C)227.5 D)244

Ife 88.60 x 2.5 = a §, @ 'a' F ART AT AT

A)212 B)221.5
C)227.5 D)244
Answer Key : B Your Response : B (Correct)

Question No. 112
Akash can complete a journey in 10 hours. He travels the first half of the journey at the rate of 21 km/h and
the second half at the rate of 24 km/h. Find his total journey in kilometer.
A)220 km B)224 km
C)234 km D)230 km

3TN 10 G 3 UF AT g W WHAT ¢| T6 AT H Ggen Imer SEr 21 Fdvder fr afy & 3 qERr amn
ST 24 FRef/ereT i A & T FAT &1 3T FoI I, FhelAT 7 AT H

A)220 ey B)224 faraY
C)234 faraly D)230 freT
Answer Key : B Your Response : B (Correct)

Question No. 113
The Compound Interest on some amount for 2 years at 20% per annum is Rs.770. What will be the Simple
Interest on the same amount at 1% per month for 3 years?
A)Rs.600 B)Rs.630
C)Rs.660 D)Rs.650

et ofr w0 2 af & AT 20% a1 o & THgfE suer ©.770 &1 3 TR W 1% gfer 7 Fr 5T § 3 asf

e WTUROT ST fhcar glam?

A)%.600 B)%.630

C)%.660 D)%.650

Answer Key : B Your Response : Not Answered

Question No. 114

A man went uphill at a speed of 20 km/h and came downhill at a speed of 30 km/h. Find the average speed of

his journey.
A)25.5 km/h B)24 km/h
C)22.5 km/h D)25 km/h

U Ifed 9gIs W 20 frai/aer it a1 & Tedr § 31 30 Rri/eer $ir arar & 3cRar g1 39 IrEr fr 3

Tl AT H

A)25.5 feral/eer B)24 faratt/aer

C)22.5 forsi/aer D)25 faat/aer

Answer Key : B Your Response : D (Wrong)

Question No. 115
If sin® + cosecO = 3, then find sin?0 + cosec?0.
A)12 B)4
C)9 D)7
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IfE sind + cosecd = 3 &, a sin®0 + cosec?® &I AT AT Hil

A)12 B)4
C)9 D)7
Answer Key : D Your Response : Not Answered

Question No. 116
If 0.10 x 10 - 0.001 x 10 = x, then find the value of 'x.
A)99/100 B)111/100
C)1 D)101/100

af& 0.10 x 10 - 0.001 x 10 = x §, @ 'X' F A AT AT

A)99/100 B)111/100
O)1 D)101/100
Answer Key : A Your Response : A (Correct)

Question No. 117
A certain sum was lent at the rate of 5% per annum, Compound Interest, compounded annually. After two
years, it amounted to Rs.441. Find the sum.
A)Rs.380 B)Rs.415
C)Rs.412 D)Rs.400

s TARad I 5% aifs g e i ¥ W 3UR & 71§, S af¥s &7 & T @ &1 & aof F a8
g T.441 g 71§ a, R AT F

A)%.380 B)%.415
C)%.412 D)%.400
Answer Key : D Your Response : D (Correct)

Question No. 118
The product of two numbers is 192 and their sum is 28. Find the smallest of these two numbers.
A)16 B)12
C)14 D)18

ar HEAsHt FT OB 192 § 3R IeTewr Arher 28 Bl 5 Al FEAEt F ¥ T B HEAr AT W

A)16 B)12
C)14 D)18
Answer Key : B Your Response : Not Answered

Question No. 119
Which of these is NOT equivalent to 18% of 367
A)3% of 216 8)648
C)2.4 D)9% of 72

et & & FlT-ar 18% of 36 F FAJH et &7

A)3% of 216 B)6.48
C)2.4 D)9% of 72
Answer Key : C Your Response : Not Answered

Question No. 120
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The ratio of Amudha's age to Sandhya's age is 3 : 8. If the sum of their ages is 55 years, what will be their
respective ratio of age after five years?

A)8:3 B)9:4

C)¥4:9 D)3:8

3TET BT Y H AT B Y F Ie[IrdT 3 : 8 1 I Ty Y T Aer 55 a¥ g, o i a¥ & a1 Iehr
Y FT FElOT e[ FIT §rem?

A)8 : 3 B)9 : 4
C)4: 9 D)3 : 8
Answer Key : C Your Response : C (Correct)

Question No. 121

Read the following information carefully and answer the question given below.

Eight captains of different football teams—Russia, Brazil, India, Argentina, Mexico, Peru, Spain and Japan—
are sitting around a circular table and are facing the centre, but not necessarily in the same order. The Indian
captain sits third to the left of the Mexico captain. Only two people sit between the Russian and Spanish
captains. Neither the Russian nor the Spanish captain is an immediate neighbour of the Indian captain. The
captain of Japan sits second to the right of the Peru captain, who is not an immediate neighbour of the Indian
captain. The Russian captain sits third to the left of the Indian captain. The captains of Argentina and Brazil
are not immediate neighbours. The Argentina captain sits third to the left of the Peru captain.

Which of the following captains sits to the immediate right of the captain of Mexico?
A)Russia B)Spain
C)Peru D)Argentina

AT e #F S99 ¥ 96 3R A fu v W &1 3w S|

AT F GRF IR Fg Fr I He WE IS §, AT S @ B s FA T g oRT F Foaw, A F
FAT & T1% 3N TN TUH WV IS §1 §F F Foae AR VT & FoaeT & 1T had ar aer 88 §1 7 O &6
F Foa IR T & AT F FodE, AT F Fod & Ahead R & ST F Fode, 9§ & FodiT F
IR G B R IS § N & 9Ra & Foa & PRevean S 98§ T F Foae, SR & FoAS & a8
IR Y T | A3 E| 36eT 3R ST & Feae Adead R AgT §| ST § Fea, 9§ § o
F o€ 3T I T W S E

T § ¥ Fla-ar FoaaT AFTR & FodT F SF T T §?

A)FH B)T
C)I%® D)3TSier=T
Answer Key : C Your Response : C (Correct)

Question No. 122

Complete the series.

2, 6, 12, 20, 30, 42, 56, (...)
A)70 B)64
C)72 D)60
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Soft i g |

2, 6, 12, 20, 30, 42, 56, (..)

A)70 B)64
C)72 D)60
Answer Key : C Your Response : C (Correct)

Question No. 123
A family consists of six members P, Q, R, X, Y and Z. Q is the son of R, but R is not the mother of Q. P and R
are a married couple. Y is the brother of R. X is the daughter of P. Z is the brother of P. How is X related to Z?
A)Daughter B)Mother
C)Sister D)Niece

TH WRaR HF B¢ WG P, Q, R, X, Y 3R Z &1 Q, R & g7 &, afka R, Q #r & 7@ ¥1 P 3R R Rarfea
TS Y, RFAME R X, PR T8N Z P Fr & 8 ar X, Z & F waiftrq 82

A)gAT B)AT
C)dg=t D)sTrsit
Answer Key : D Your Response : D (Correct)

Question No. 124
In a certain code, 'gri chri' means 'brand new', 'gyp twoh' means 'very old', 'gri bur twoh' means 'old and new'
and ‘chri deh twoh' means 'old brand car'. Which of the following codes denotes 'new car'?
A)gri deh B)twoh deh
C)deh gyp D)chri gri

wF TR HesmT &, 'gri chri' T AdeT 'brand new' &, 'gyp twoh' & Hde ‘very old' &, 'gri bur twoh' T
Addd 'old and new' § 3R 'chri deh twoh' &T #de™ 'old brand car gl R+fAf@d & ¥ T AdET 'new

car grem?

A)gri deh B)twoh deh

C)deh gyp D)chri gri

Answer Key : A Your Response : A (Correct)

Question No. 125

Find the missing group of alphabets in the following series.
gfe__ig__eii_ fei _gf__ii

A)figie B)ifgie
C)eifgi D)ifige

Arfaf@d s@er # euftyd snR-aag Ad fifew

gfe_ _ig __ eii_ fei_ gf _ i

A)figie B)ifgie
C)eifgi D)ifige
Answer Key : B Your Response : B (Correct)

Question No. 126
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Complete the series.

AB, DE, HI, MN, (...)

A)ST B)DE
C)CD D)SY
Soft i g |

AB, DE, HI, MN, (.

A)ST B)DE
C)CD D)SY
Answer Key : A Your Response : A (Correct)

Question No. 127
In a row of boys, Ganesh is twelfth from the left end and Rajan is fifteenth from the right end of the row. If they
interchange their positions, then Rajan becomes twentieth from the right end. How many boys are there in the

row?
A)31 B)30
C)29 D)32

TS Y v 4fFT F, Or 9 O & aRear § AR T 9T F ¥ eR ¥ dggar ¥ IR F I9e ' F
$age F §, dr 3 ol e B8R & digar @ Srar §1 ar 9fFd F frae a5 §?

A)31 B)30
C)29 D)32
Answer Key : A Your Response : Not Answered

Question No. 128

Which word will best complete the relationship given below?
Petrol : Car :: Electricity : ?

A)Dark B)Goods
C)Bulb D)Room

FIT-AT g A AT 7T Feer Fr Wafeasd ST & G FR@M?

e - FN : faggd : ?

A)3TERT B)#Ter

C)aed D)aeT

Answer Key : C Your Response : C (Correct)

Question No. 129

Find the wrong number in the following series.

6, 14, 30, 64, 126
A)126 B)14
C)6 D)64
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faf@a ot # & 09 &1 Fr AT hifaw]

6, 14, 30, 64, 126

A)126 B)14
C)6 D)64
Answer Key : D Your Response : D (Correct)

Question No. 130

Find the ODD one out from the given options.

A)Duck B)Emu

C)Ostrich D)Eagle

R 1w Repedt # F R BT

A)dag B)uHg

C)e[eeeget D)aTet

Answer Key : D Your Response : D (Correct)

Question No. 131
In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Generally creative persons are eccentric.

Conclusions:

I. Philosophers may be eccentric.

Il. Artists may be eccentric.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Only conclusion Il follows D)Either conclusion | or |l follows

3H WA A, UF FUG & a1 ar fasey Ru aw §1 37 s (sh) A g, S aifFE w9 @ wdiftw w0 @
IHTEOT FA

FUA:
A dR | [T Afad F9T A &

IGA=D P
) greifas Herhr & Thd El
Il) FeATPR FeAehr & TR &l

Ay | 3R fswd 1| gt reTERer #d gl B)shder forseht | 37TER0T e B
C)dhael forsehy Il 3eTEROT &l B Dyar & forseny | a7 forsehy |1 31e8RoT &Y B
Answer Key : A Your Response : C (Wrong)

Question No. 132
A person starts from a point A and travels 3 km eastwards to B and then turns left and travels thrice that
distance to reach C. He again turns left and travels five times the distance he covered between A and B and
reaches his destination D. How far is he now from the starting point A?
A)18 km B)15 km
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C)16 km D)12 km

T cafed g A @ YF FT § 3N 3 R 9 Fr 3R B 7% e § 3R AT a1 73 ¥ 3R C A ggue
* fAT 3 gt #1 AT I aF S ¥ g W & A7 qgzar &, 3’ A AR B & w39 g@rr a7 Hr A
gl &1 9iT I o S § 3R 39T Iiciey D W I g1 aF el eaneh g A 9 R gy &7

A)18 ThaT B)15 foraY
C)16 faraly D)12 fraY
Answer Key : B Your Response : B (Correct)

Question No. 133

Which number will best complete the relationship given below?

6:36::8:7?
A)46 B)49
C)a7 D)48

ST AT A U 1T HY FT T 3o T HFEM?

6:3 :8:7

A)46 B)49

C)47 D)48

Answer Key : D Your Response : D (Correct)

Question No. 134
If 'RING' is coded as 2456 and 'PARIS' is coded as 17243, then what will be the code for 'RASING'?
A)274356 B)273546
C)273456 D)234756

fe 'RING' &t 2456 3iR 'PARIS' &I 17243 & Fifsqd fhar Sirar g, dF 'RASING' & faT 15 41 gem?

A)274356 B)273546
C)273456 D)234756
Answer Key : C Your Response : C (Correct)

Question No. 135

Read the following question and decide which of the statements is sufficient to answer the question.

Question:
Village R is in which direction with respect to village D?

Statements:

l. Village R is to the north of village T which is to the west of village F.

II. Village D is to the west of village T.

A)Statement | alone is sufficient while statement |l B)Both statements | and Il are sufficient to answer the
alone is not sufficient to answer the question question

C)Statement Il alone is sufficient while statement | D)Either statement | or Il is sufficient to answer the
alone is not sufficient to answer the question question
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AR@T e F 93 3T Ao o fF 30 ¥ FiT-a1 FI9 T F 3R & F v g1 &

e
At D ¥ Hest #, aifg R fra fer & &7

FY:
.LIMG R, MG T & 3k H & o &% aifa F & aRas # &1

II. ifg D, aifa T & qfXeeT & &

AU HT 3cak ol & AU bl YA | TATd § B)URA F 3caR &d & [olT gl YT | 3R Il v ary

STafeh HYe || 3rehel gAfed o8l ¥ g g

C)Ied FI 3ccRk od & [T 3hel FUST || qITTd § D)UT & 3ccak &of o foIv I7 ar &Y | A1 HIA I
ST U | Hhel TATTT 8T & ggTed gl

Answer Key : B Your Response : B (Correct)

Question No. 136

Choose the option which best expresses the meaning of the idiom/phrase given below.

"Keep someone at arm's length"
A)To stand where someone is standing at your arm's B)To crowd a place that is already crowded
length
C)To be seated where someone's arm ends D)To keep distance from and be wary of somebody

Choose the option which best expresses the meaning of the idiom/phrase given below.

"Keep someone at arm's length"

A)To stand where someone is standing at your B)To crowd a place that is already crowded

arm's length
C)To be seated where someone's arm ends D)To keep distance from and be wary of somebody
Answer Key : D Your Response : D (Correct)

Question No. 137

Choose the correct alternative which will improve the part of the sentence given in quotes.

Sarathy would have succeeded if he 'acts' on my mother's advice.
A)Had acted B)Act
C)No improvement D)Have acted

Choose the correct alternative which will improve the part of the sentence given in quotes.

Sarathy would have succeeded if he 'acts’ on my mother's advice.
A)Had acted B)Act
C)No improvement D)Have acted

Answer Key : A Your Response : A (Correct)
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Question No. 138

Choose from the four options, the word that best substitutes the given phrase.

"The female who inherits wealth or property"
A)Hireling B)Hairess
C)Hairdress D)Heiress

Choose from the four options, the word that best substitutes the given phrase.

"The female who inherits wealth or property"

A)Hireling B)Hairess
C)Hairdress D)Heiress
Answer Key : D Your Response : D (Correct)

Question No. 139

Choose the correct antonym of the given word from the options given below.

PERMANENT
A)Stable B)Fleeting
C)Immortal D)Continued

Choose the correct antonym of the given word from the options given below.

PERMANENT

A)Stable B)Fleeting

C)Immortal D)Continued

Answer Key : B Your Response : B (Correct)

Question No. 140
Identify the CORRECTLY spelt word.
A)Ambasaador B)Glassdoor
C)Matodar D)Minarat

Identify the CORRECTLY spelt word.

A)Ambasaador B)Glassdoor
C)Matodar D)Minarat
Answer Key : B Your Response : D (Wrong)

Question No. 141

Choose from the four options, the word that best substitutes the given phrase.

"To placate or make someone come around'
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A)Pacify B)Aggravate
C)Antagonize D)Rouse up

Choose from the four options, the word that best substitutes the given phrase.

'To placate or make someone come around'

A)Pacify B)Aggravate
C)Antagonize D)Rouse up
Answer Key : A Your Response : D (Wrong)

Question No. 142
In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your answer.

Raman felt badly (P)/ about failing (Q)/ the Geometry test. (R)/ No error (S)
AP B)Q
C)S D)R

In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your

answer.

Raman felt badly (P)/ about failing (Q)/ the Geometry test. (R)/ No error (S)

A)P B)Q
C)S D)R
Answer Key : A Your Response : A (Correct)

Question No. 143

Fill in the blank with the most appropriate word which will suit the context of the sentence.

The charity most of its money through private donations.
A)Borrows B)Uses
C)Catches D)Receives

Fill in the blank with the most appropriate word which will suit the context of the sentence.

The charity most of its money through private donations.
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A)Borrows B)Uses
C)Catches D)Receives
Answer Key : D Your Response : D (Correct)

Question No. 144

Fill in the blank with the most appropriate word which will suit the context of the sentence.

Fora , the government needs to borrow a huge amount.
A)Beginning B)Star
C)Start D)Ending

Fill in the blank with the most appropriate word which will suit the context of the sentence.

For a , the government needs to borrow a huge amount.

A)Beginning B)Star

C)Start D)Ending

Answer Key : C Your Response : C (Correct)

Question No. 145

Choose the correct synonym of the given word from the options given below.

PARSIMONIOUS
A)Careless B)Spendthrift
C)Thrifty D)Reckless

Choose the correct synonym of the given word from the options given below.

PARSIMONIOUS

A)Careless B)Spendthrift

C)Thrifty D)Reckless

Answer Key : C Your Response : B (Wrong)

Question No. 146
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Choose the correct antonym of the given word from the options given below.

DELICATE
A)Strong B)Weak
C)Fragile D)Breakable

Choose the correct antonym of the given word from the options given below.

DELICATE

A)Strong B)Weak

C)Fragile D)Breakable

Answer Key : A Your Response : A (Correct)

Question No. 147
In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your answer.

If you say you don't know (P)/ what the problem is, then (Q)/ do I neither. (R)/ No error (S)
AP B)Q
C)R D)S

In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your
answer.

If you say you don't know (P)/ what the problem is, then (Q)/ do | neither. (R)/ No error (S)

A)P B)Q
C)R D)S
Answer Key : C Your Response : C (Correct)

Question No. 148

Choose the correct synonym of the given word from the options given below.

TRIVIAL
A)Unimportant B)Essential
C)Relevant D)Meaningful

Choose the correct synonym of the given word from the options given below.

TRIVIAL
A)Unimportant B)Essential
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C)Relevant D)Meaningful

Answer Key : A Your Response : C (Wrong)

Question No. 149
In the following question, there are six parts marked S1, S6, P, Q, R and S. The positions of S1 and S6 are
fixed. Some parts of the sentence have been jumbled up. Rearrange these parts and choose the proper
sequence from the given options.

(S1) Never one to feel

(P) The house well

(Q) Complacent, Raju always

(R) He has locked

(S) Checks to see if

(S6) At least ten times

A)SQRP B)QSRP
C)PQRS D)RPQS

In the following question, there are six parts marked S1, S6, P, Q, R and S. The positions of S1 and
S6 are fixed. Some parts of the sentence have been jumbled up. Rearrange these parts and choose the
proper sequence from the given options.

(S1) Never one to feel

(P) The house well

(Q) Complacent, Raju always
(R) He has locked

(S) Checks to see if

(S6) At least ten times

A)SQRP B)QSRP
C)PQRS D)RPQS
Answer Key : B Your Response : B (Correct)

Question No. 150

Choose the option which best expresses the meaning of the idiom/phrase given below.

The pen is mightier than the sword"
A)Both the pen and sword are weak B)The pen can double as a sword
C)The sword can double as a pen D)Journalism is more powerful than those in power

Choose the option which best expresses the meaning of the idiom/phrase given below.

The pen is mightier than the sword"
A)Both the pen and sword are weak B)The pen can double as a sword
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C)The sword can double as a pen D)Journalism is more powerful than those in power

Answer Key : D Your Response : D (Correct)
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